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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJDQDOLVLV� SHQJDUXK� ILQDQFLDO� OLWHUDF\��
ILQDQFLDO�VROYHQF\��GDQ�ULVN�RI�WROHUDQFH WHUKDGDS�ILQDQFLDO�VDWLVIDFWLRQ JHQHUDVL�=�GL�
.RWD� -DPEL�� 3HQHOLWLDQ� LQL� PHQJJXQDNDQ� PHWRGH� NXDQWLWDWLI�� 'DWD� SHQHOLWLDQ�
GLSHUROHK�GDUL�����UHVSRQGHQ�JHQHUDVL�=�GL�.RWD�-DPEL�\DQJ�GLSLOLK�GHQJDQ�WHNQLN�
SXUSRVLYH�VDPSOLQJ��'DWD�GLDQDOLVLV�GHQJDQ�PHQJJXQDNDQ�6PDUW3/6���

�� )LQDQFLDO�/LWHUDF\�PHPEHULNDQ�SHQJDUXK�VHFDUD�SDUVLDO�WHUKDGDS�)LQDQFLDO�
6DWLVIDFWLRQ�*HQHUDVL�=�.RWD�-DPEL��'HQJDQ�GHPLNLDQ�KDO�LQL�PHQXQMXNNDQ�
EDKZD� VHPDNLQ� EDLN� VHVHRUDQJ� GDODP� SHPDKDPDQ� DNDQ� SURGXN� GDQ�
SHQJHORODDQ�NHXDQJDQ�VHUWD�GLGXNXQJ�GHQJDQ�NHELDVDDQ�GDODP�PHQJJXQDNDQ�
\DQJ�EDLN�PDND�KDO�WHUVHEXW�PHQXQMXNNDQ�EDKZD�NHSXDVDQ�*HQHUDVL�=�.RWD�
-DPEL�MXJD�EDLN�DWDX�WLQJJL�

�� )LQDQFLDO�6ROYHQF\�PHPEHULNDQ�SHQJDUXK�VHFDUD�SDUVLDO�WHUKDGDS�)LQDQFLDO�
6DWLVIDFWLRQ�*HQHUDVL�=�.RWD�-DPEL��'HQJDQ�GHPLNLDQ�KDO�LQL�PHQXQMXNNDQ�
MLND�NRQGLVL�JHQHUDVL�=�.RWD�-DPEL�GDODP�NRQGLVL�DPDQ�DWDX�WHUVROYHQVL�PDND�
JHQ� =� WHUVHEXW� MXJD� PHPLOLNL� WLQJNDW� ILQDQFLDO� VDWLVIDFWLRQ� \DQJ� WLQJJL��
.RQGLVL�NHXDQJDQ�\DQJ�WHUVROYHQVL�DGDODK�GLPDQD�DVHW�\DQJ�PHUHND�PLOLNL�
PDPSX�PHPHQXKL�NHEXWXKDQ�KLGXS�GDQ�MXJD�NHZDMLEDQ�\DQJ�PHUHND�PLOLNL��
<DQJ�VHGHPLNLDQ�LWX��PHPEXDW�PHUHND�WHUKLQGDUL�GDUL�UDVD�NKDZDWLU�GDQ�SXDV�
VHFDUD�NHXDQJDQ�

�� +DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� WHUGDSDW� KXEXQJDQ� SRVLWLI� GDQ�
VLJQLILNDQ� DQWDUD� ULVN� RI� WROHUDQFH GDQ� ILQDQFLDO� VDWLVIDFWLRQ DGDODK� \DQJ�
SDOLQJ�WLQJJL��+DO�LQL�EHUDUWL�EDKZD�VHPDNLQ�WLQJJL�WLQJNDW�ULVN�RI�WROHUDQFH
*HQHUDVL� =� .RWD� -DPEL�� PDND� VHPDNLQ� WLQJJL� SXOD� WLQJNDW� ILQDQFLDO�
VDWLVIDFWLRQQ\D��*HQHUDVL�=�.RWD�-DPEL�GHQJDQ�ULVN�RI�WROHUDQFH�\DQJ�WLQJJL�
XPXPQ\D�PHPDKDPL�ULVLNR�GDQ�VROXVL�XQWXN�PHQJDQWLVLSDVL�ULVLNR�WHUVHEXW��
3HPDKDPDQ�LQL�PHPXQJNLQNDQ�PHUHND�XQWXN�PHPEXDW�NHSXWXVDQ�NHXDQJDQ�
\DQJ� OHELK� WHUXNXU� GDQ� WHUHQFDQD�� VHKLQJJD� PHQLQJNDWNDQ� UDVD� DPDQ� GDQ�
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NHSXDVDQ� WHUKDGDS� NRQGLVL� NHXDQJDQ� PHUHND� VHKLQJJD� PHQLQJNDWNDQ�
ILQDQFLDO�VDWLVIDFWLRQ�PHUHND�

����6DUDQ�
'DUL� KDVLO� NHVLPSXODQ� VHUWD� SHPEDKDVDQ� SDGD� VHWLDS� EDE� \DQJ� DGD� GDODP�

SHQHOLWLDQ�LQL��PDND�SHQHOLWLDQ�LQL�PHPEHULNDQ�VDUDQ�VDUDQ�VHEDJDL�EHULNXW��
�� 3HPHULQWDK� SHUOX� PHODNXNDQ� HGXNDVL� GDQ� SHODWLKDQ� VHFDUD� EHUNHODQMXWDQ�

NHSDGD�JHQHUDVL�=�WHQWDQJ�ILQDQFLDO�OLWHUDF\��ILQDQFLDO�VROYHQF\��GDQ�ULVN�RI�
WROHUDQFH��+DO�LQL�GDSDW�GLODNXNDQ�PHODOXL�EHUEDJDL�SURJUDP��VHSHUWL�VHPLQDU��
ZRUNVKRS��SHODWLKDQ�RQOLQH��GDQ�PDWHUL�HGXNDVL�GL�VHNRODK�GDQ�XQLYHUVLWDV��
3HPHULQWDK� SHUOX� PHQ\HGLDNDQ� LQIRUPDVL� GDQ� DNVHV� \DQJ� PXGDK� NHSDGD�
SURGXN�GDQ�OD\DQDQ�NHXDQJDQ�\DQJ�VHVXDL�GHQJDQ�NHEXWXKDQ�JHQHUDVL�=�

�� /HPEDJD� NHXDQJDQ� SHUOX�PHQJHPEDQJNDQ� SURGXN� GDQ� OD\DQDQ� NHXDQJDQ�
\DQJ� LQRYDWLI� GDQ� VHVXDL� GHQJDQ� NHEXWXKDQ� JHQHUDVL� =�� +DO� LQL� GDSDW�
GLODNXNDQ� GHQJDQ� PHPDQIDDWNDQ� WHNQRORJL� GLJLWDO� XQWXN� PHQ\HGLDNDQ�
OD\DQDQ� \DQJ� PXGDK� GLDNVHV� GDQ� XVHU�IULHQGO\�� +DO� LQL� GDSDW� GLODNXNDQ�
GHQJDQ� PHQJDGDNDQ� SURJUDP� HGXNDVL� GL� VHNRODK� GDQ� XQLYHUVLWDV�� VHUWD�
PHODOXL�EHUEDJDL�SODWIRUP�PHGLD�VRVLDO�

�� *HQHUDVL� =� SHUOX� PHQLQJNDWNDQ� SHQJHWDKXDQ� GDQ� SHPDKDPDQ� WHQWDQJ�
ILQDQFLDO� OLWHUDF\�� ILQDQFLDO� VROYHQF\�� GDQ� ULVN� RI� WROHUDQFH�� +DO� LQL� GDSDW�
GLODNXNDQ�GHQJDQ�PHQJLNXWL�SURJUDP�HGXNDVL�GDQ�SHODWLKDQ�\DQJ�GLVHGLDNDQ�
ROHK� SHPHULQWDK� GDQ� OHPEDJD� NHXDQJDQ�� VHUWD� GHQJDQ�PHPSHODMDUL�PDWHUL�
HGXNDVL�GDUL�EHUEDJDL�VXPEHU�WHUSHUFD\D��

�� 'LNDUHQDNDQ� SHQHOLWLDQ� LQL� PHQHOLWL� KXEXQJDQ� DQWDUD� YDULDEHO� LQGHSHQGHQ�
WHUKDGDS�YDULDEHO�GHSHQGHQ�VHFDUD�SDUVLDO�DWDX�VHFDUD�ODQJVXQJ��GLKDUDSNDQ�
XQWXN�SHQHOLWL�VHODQMXWQ\D�PHQHOLWL�SHQHOLWLDQ�LQL�VHFDUD�WLGDN�ODQJVXQJ�DWDX�
PHQJJXQDNDQ� YDULDEHO� PHGLDVL� DWDX� LQWHUYHQLQJ�� 3DUD� SHQHOLWL� SHUOX�
PHODNXNDQ� SHQHOLWLDQ� OHELK� ODQMXW� WHQWDQJ� IDNWRU�IDNWRU� ODLQ� \DQJ�PXQJNLQ�
PHPSHQJDUXKL�ILQDQFLDO�VDWLVIDFWLRQ JHQHUDVL�=��


